
Time: 10 Minutes Paper Math 5 Total Marks: 10

2nd Month, 3rd Week, 3rd Day Syllabus: Unit 1: Review Ex. (Q # No. 1,2)

Q.No.1 Encircle the correct answer from the following choices. (5)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
i. The LCM of two or more prime numbers is always equal to their ______.

ŠŠŠŠzzzzcccc****ŠŠŠŠzzzzÐÐÐÐiiiicccc****ŠŠŠŠ{{{{GGGGŠŠŠŠZZZZ°°°°ZZZZŠŠŠŠ»»»»ffffzzzzZZZZDDDDssssZZZZ÷÷÷÷åååå'''',,,,ZZZZ'''',,,,ƒƒƒƒ@@@@****ìììì::::

(a) Prime factor GŠbz¢!Æ (b) Quotient qÝ„Æ

(c) òLCM fzZDsZ÷Æ (d) Product qÝ¢[Æ

ii. The LCM of 33, 66 and 81 is: »»»»ffffzzzzZZZZDDDDssssZZZZ÷÷÷÷ìììì:::: 81 ZZZZzzzzgggg 66, 33
(a) 1770 (b) 1872 (c) 1782 (d) 1287

iii. The HCF of two or more than two numbers which have no common

prime factor is always:

ŠŠŠŠzzzzcccc****ŠŠŠŠzzzzÐÐÐÐiiiicccc****ŠŠŠŠ{{{{ZZZZ°°°°ZZZZŠŠŠŠ»»»»¬¬¬¬››››ZZZZWWWWXXXX~~~~ÃÃÃÃððððGGGGŠŠŠŠ°°°°ŠŠŠŠœœœœuuuu::::ƒƒƒƒÔÔÔÔååååƒƒƒƒ@@@@****ìììì::::
(a) 1000 (b) 100 (c) 10 (d) 1

iv. The HCF of 20, 48, 56 is: »»»»ffffzzzzZZZZDDDDssssZZZZ÷÷÷÷ìììì:::: 56 ZZZZzzzzgggg 46, 20

(a) 4 (b) 3 (c) 5 (d) 1

v. Prime factorization of 16 is: ÅÅÅÅGGGGŠŠŠŠ‹‹‹‹~~~~ìììì:::: 16

(a) 2 × 8 (b) 1 × 16 (c) 2 ×2 ×2 ×2 (d) 2 ×4 ×2

Q.No.1.   Find LCM using division: (5)

::::ffffzzzzZZZZDDDDssssZZZZ÷÷÷÷&&&&++++gggg====„„„„¥¥¥¥xxxx™™™™,,,,:::: 1 ÎÎÎÎZZZZwwww����
6, 24, 42

Q.No.2.   Find HCF by prime factorization: (5)

GGGGŠŠŠŠ‹‹‹‹~~~~ÆÆÆÆffffgggg))))¬¬¬¬››››ZZZZWWWW¥¥¥¥xxxx™™™™,,,,::::  ::::2 ÎÎÎÎZZZZwwww����
16, 38, 98
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